

$$\forall \psi \in \mathcal{S}' , \varphi, \psi \in \mathcal{S}$$

$$(a) U * \varphi \in \mathcal{C}^\infty(\mathbb{R}^d), \quad D^\alpha (U * \varphi) = (D^\alpha U) * \varphi = U * D^\alpha \varphi$$

$$\Gamma U * D^\alpha \varphi = U(y \mapsto D^\alpha \varphi(x-y))$$

$$\begin{aligned} D^\alpha U * \varphi(x) &= D^\alpha U(y \mapsto \varphi(x_0 - y)) = (-1)^{|\alpha|} U(D^\alpha(y \mapsto \varphi(x_0 - y))) = \\ &= (-1)^{|\alpha|} U(y \mapsto (-1)^{|\alpha|} D^\alpha \varphi(x_0 - y)) = U(y \mapsto D^\alpha \varphi(x_0 - y)) \end{aligned}$$

$$\Rightarrow U * D^\alpha \varphi = D^\alpha U * \varphi$$

$$U * \varphi \text{ je splošnik: } x_n \rightarrow x \Rightarrow \tau_{x_n} \check{\varphi} \rightarrow \tau_x \check{\varphi} \text{ w } \mathcal{S} \text{ (Lemma)} \\ \Rightarrow U(\tau_{x_n} \check{\varphi}) \rightarrow U(\tau_x \check{\varphi}) \Rightarrow U * \varphi(x_n) \rightarrow U * \varphi(x)$$

$$\begin{aligned} \frac{\partial}{\partial x_1} U * \varphi(x) &= \lim_{t \rightarrow 0} \frac{U * \varphi(x + te_1) - U * \varphi(x)}{t} = \lim_{t \rightarrow 0} U\left(y \mapsto \frac{\varphi(x + te_1 - y) - \varphi(x - y)}{t}\right) \\ &= U(y \mapsto \frac{\partial}{\partial x_1} \varphi(x - y)) \quad \downarrow \text{Lemma 42(b)} \\ &= U * \frac{\partial}{\partial x_1} \varphi(x) \quad \text{a določimo} \end{aligned}$$

(5) $\Lambda U * \varphi$ je temperovana distribucija

$$\Gamma U \in \mathcal{S}' \Rightarrow \exists C > 0, N \in \mathbb{N}_0, \text{ z e } |U(q)| \leq C P_N(q) \text{ mod } \mathcal{S}$$

$$\text{Pa z } |U * \varphi(x)| = |U(\tau_x \check{\varphi})| \leq C \cdot P_N(\tau_x \check{\varphi})$$

$$\text{O d h a d n e m e } P_N(\tau_x \check{\varphi})$$

$$k \leq N, y \in \mathbb{R}^d: |(1 + \|y\|^2)^N D^k (y \mapsto \varphi(x-y))| =$$

$$= (1 + \|y\|^2)^N |D^k \varphi(x-y)| \leq \frac{(1 + \|y\|^2)^N}{(1 + \|x-y\|^2)^N} \cdot P_N(\varphi)$$

$$\text{Prüfen } \frac{1 + \|y\|^2}{1 + \|x-y\|^2} = \frac{1 + \|x-y\|^2 + 2 \langle y, x \rangle + \|x\|^2}{1 + \|x-y\|^2} =$$

$$= 1 + \frac{2 \langle y, x \rangle}{1 + \|x-y\|^2} + \frac{\|x\|^2}{1 + \|x-y\|^2} \leq 1 + \frac{2 \|y\| \|x\| + \|x\|^2}{1 + \|x-y\|^2} + \|x\|^2$$

$$\leq 1 + \|x\| + \|x\|^2$$

$$\Rightarrow P_N(\tilde{\varphi}_x) \leq (1 + \|x\| + \|x\|^2)^N \cdot P_N(\varphi)$$

$$\Rightarrow |U_\# \varphi(x)| \leq (1 + \|x\| + \|x\|^2)^N \cdot P_N(\varphi)$$

$$\Rightarrow U_\# \varphi \in \mathcal{S}' \text{ d.h. T37(c)}$$

$$(c) f \in \mathcal{L}^p(\mathbb{R}^d) \Rightarrow A_f * \varphi = f * \varphi$$

$$A_f * \varphi(x) = A_f(y \mapsto \varphi(x-y)) = \int_{\mathbb{R}^d} f(y) \varphi(x-y) dy = f * \varphi(x)$$

\checkmark
~~dy~~ ~~dh~~ (f)

$$a) \widehat{\Lambda_{U*\varphi}} = \widehat{\varphi} \cdot \widehat{U}$$

$$\widehat{\Lambda_{U*\varphi}}(\varphi) = \Lambda_{U*\varphi}(\widehat{\varphi}) = \int_{\mathbb{R}^{2d}} U*\varphi(x) \cdot \widehat{\varphi}(x) \, d\mu_d(x)$$

$$= \int_{\mathbb{R}^{2d}} U(\varphi \mapsto \varphi(x-y)) \cdot \widehat{\varphi}(x) \, d\mu_d(x) =$$

$$= \int_{\mathbb{R}^{2d}} U(y \mapsto \varphi(x-y) \widehat{\varphi}(x)) \, d\mu_d(x) =$$

$$= \Lambda_1(x \mapsto U(y \mapsto \varphi(x-y) \widehat{\varphi}(x))) \stackrel{(*)}{=} U(y \mapsto \Lambda_1(x \mapsto \varphi(x-y) \widehat{\varphi}(x))) =$$

$$= U(y \mapsto \int_{\mathbb{R}^d} \tau_y \varphi \cdot \widehat{\varphi} \, d\mu_d) = U(y \mapsto \int_{\mathbb{R}^d} \widehat{\tau_y \varphi} \cdot \varphi \, d\mu_d) =$$

$$= U(y \mapsto \int_{\mathbb{R}^d} e^{-iy} \widehat{\varphi} \cdot \varphi) = U(\widehat{\varphi} \cdot \varphi) = \widehat{U(\varphi \cdot \widehat{\varphi})} =$$

$$= \widehat{\varphi} \cdot \widehat{U}(\varphi)$$

(*) $(x,y) \mapsto \varphi(x-y) \varphi(x)$ für alle $\varphi \in \mathcal{S}(\mathbb{R}^{d+d})$ für alle $\varphi, \psi \in \mathcal{S}(\mathbb{R}^d)$

• $\mu \in C^\infty$

$$\bullet \left| (1 + \|x\|^2 + \|y\|^2)^N \int_{\mathbb{R}^d} \varphi(x-y) \varphi(x) \, dx \right| =$$

$$= (1 + \|x\|^2 + \|y\|^2)^N \sum_{p \leq d} c_p \binom{-1}{p} |x|^p |y|^{d-p} \varphi(x-y) \varphi(x)$$

$$\leq (1 + \|x\|^2 + \|y\|^2)^N \sum_{p \leq d} c_p \frac{P_p(\varphi)}{(1 + \|x-y\|^2)^N} \frac{P_p(\varphi)}{(1 + \|x\|^2)^N}$$

$$\frac{1 + \|x\|^2 + \|y\|^2}{(1 + \|x-y\|^2)(1 + \|x\|^2)} \stackrel{\|y\| \leq 2\|x\|}{\leq} \frac{1 + 5\|x\|^2}{1 + \|x\|^2} \leq 5$$

$$\|y\| > 2\|x\| \Rightarrow \|x-y\| \geq \|y\| - \|x\| > \frac{\|y\|}{2}$$

$$\text{tes} \leq \frac{1 + 5\|y\|^2}{1 + \left(\frac{\|y\|}{2}\right)^2} \leq \frac{5}{\frac{1}{4}} = 20$$

$$(e) U * (\varphi * \psi) = (U * \varphi) * \psi$$

$$\sqrt{U * (\varphi * \psi)(x) = U(y \mapsto \varphi * \psi(x-y)) = U(y \mapsto \int_{\mathbb{R}^d} \varphi(x-y-z) \psi(z) d\mu_y(z))}$$

$$\stackrel{\textcircled{D}}{=} U(y \mapsto \int_1 \lambda_1(z \mapsto \varphi(x-y-z) \psi(z))) = \lambda_1(z \mapsto U(y \mapsto \varphi(x-y-z) \psi(z)))$$

$$= \lambda_1(z \mapsto \psi(z) U(y \mapsto \varphi(x-y-z))) = \lambda_1(z \mapsto \psi(z) \cdot U * \varphi(x-z)) =$$

$$= (U * \varphi) * \psi(x)$$

$$\textcircled{D} \text{ F\u00fcr } (y, z) \mapsto \varphi(x-y-z) \psi(z) \text{ auf } \mathcal{S}(\mathbb{R}^d + \mathbb{R}^d)$$

• $\varphi \in C^\infty$

• $N \in \mathbb{N}_0, |H| \leq N, (y, z) \in \mathbb{R}^d$

$$|(1 + \|y\|^2 + \|z\|^2)^N D^{(\alpha, \beta)}(\varphi(x-y-z) \psi(z))| = (1 + \|y\|^2 + \|z\|^2)^N \left| \sum_{\substack{|\alpha|+|\beta|=N \\ \alpha \leq \beta}} c_{\alpha, \beta} D^{\alpha+\beta} \varphi(x-y-z) D^{\beta-\alpha} \psi(z) \right|$$

$$\leq \sum_{\substack{|\alpha|+|\beta|=N \\ \alpha \leq \beta}} c_{\alpha, \beta} D^{\alpha+\beta} \varphi(x-y-z) D^{\beta-\alpha} \psi(z) \leq$$

$$\leq (1 + \|y\|^2 + \|z\|^2)^N \cdot \sum_{\substack{|\alpha|+|\beta|=N \\ \alpha \leq \beta}} c_{\alpha, \beta} \frac{P_N(\varphi)}{(1 + \|x-y-z\|^2)^N} \frac{P_N(\psi)}{(1 + \|z\|^2)^N}$$

$$\text{Pr\u00fcfung: } \frac{1 + \|y\|^2 + \|z\|^2}{(1 + \|x-y-z\|^2)(1 + \|z\|^2)} = \frac{1}{1 + \|x-y-z\|^2} + \frac{\|y\|^2}{(1 + \|x-y-z\|^2)(1 + \|z\|^2)} \leq 1$$

$$\frac{\|y\|^2}{(1 + \|x-y-z\|^2)(1 + \|z\|^2)} \leq 4$$

$\|y\| \leq 2\|z\| \Rightarrow \|y\| > 2\|z\|, \|y+z\| > 2\|y\|$
 $\Rightarrow \|x-y-z\| > \frac{1}{2}\|y+z\| > \frac{1}{4}\|y\| \Rightarrow \|y\| \leq 4\|x-y-z\| \Rightarrow \|y\| \leq 16\|x-y-z\|^2$

$\|y\| > 2\|z\|, \|y+z\| \leq 2\|y\| \Rightarrow \|y\| \leq 4\|x-y-z\| \Rightarrow \|y\| \leq 16\|x-y-z\|^2$